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B4 FAR | TAIRE | BEREE | ERAR | HEAR | SEERF) | TAiREIA |STAREIER| ST iREIE | SehliREE | RER(K)
AE(B) (C) (D) (E) 4| AEL A EAR%E
(G=H+I) (H) ) ()
EEBMB % 3FER 3 1 1 1 33% 1 1 0 1EHR1 100%
BREEER 2 24 8 1 1 3 13% 1 1 0 1EHR1 100%
MBI EER % 2R 9 1 1 0 20% 1 1 0 1EHR1 100%
HRZTEESR % 3FR 0 1 0 0 - 0 0 0 _
ABEERIER 3FAR 8 1 1 1 13% 1 0 1 A 100%
TERFER 2F 4K 27 9 9 8 33% 9 8 1 E 100%
ZREEZMBR | 3FHK 9 2 0 0 0% 0 0 0 _
BB EEME A 24 7 1 1 1 14% 1 1 0 1EE 100%
B EE2E % 3FER 9 4 4 2 44% 4 4 0 1EHR3 100%
BEERESR 3ER 12 1 1 4 8% 1 0 1 HE 100%
BYRE% 254K 27 1 1 0 4% 1 1 0 1EHR1 100%
BAEI-ES 2F 4R 27 1 1 3 4% 1 1 0 1EH1 100%
B2 % 3FER 9 1 1 3 11% 1 1 0 1EHR1 100%
EEL 2 3FER 5 1 0 0 0% 0 0 0 -
DR F 82 % 264K 10 3 3 4 30% 3 3 0 1EHR3 100%
PEFHEE S 3FER 4 1 1 2 25% 1 1 0 1EHR1 100%
FEIEE A 2F#R 14 2 2 3 14% 2 2 0 1EHR2 100%
A2l ESTEER 3F#K 11 1 1 3 9% 1 1 0 IEERA 100%
REBERTER 264K 13 2 2 1 15% 2 2 0 1EHR2 100%
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A#(B) (©) (D) (E) # AE EA# (RS
(G=H+I) (H) V) ()
BIXEREEZMER | 254K 1 2 1 0 100% 0 0 0 0%
EXBEREEMER | 3FEHR 2 1 1 1 50% 1 1 0 IEHR1 100%
BXEL 24 8 1 1 1 13% 1 1 0 IEE1 100%
BUEI 2 % 3EMR 7 1 1 3 14% 1 1 0 IEER1 100%
BHE A 24 6 8 4 0 67% 4 4 0 IEH4 100%
EEL B 3EMR 3 1 0 0 0% 0 0 0 -
PEIE LB S 26F 4R 1 4 0 0 0% 0 0 0 -
PRI EHE R 3EFE#R 2 1 1 0 50% 0 0 0 0%
ZRB% 24 6 11 2 0 33% 1 1 0 IEE1 50%
BEE% 3EMR 3 12 2 0 67% 2 2 0 IEER2 100%
met| 247 77 44 44 41 38 3 93%
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